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Here it is Tohoir and Tohmay — RRWY 7Y RO7

OVERVIEW

The X773 argues that we cannot say that n"9 derived his rule (that we may burn
700 7270 on 10D 27Y together with XY An1N), from the ruling of 0 X171 "
0°17277 (who says they burnt wTpa *w 2w w2 with w1 w1), because there, both
w2 were X1, however here one 17170 1s MY and the other 1s Xnv.

nooIn asks:
- B35 1397 XNPNINTHD NONT /32 NNIPIY PNYY 13929 NWPN

The >'"9 asks; let us establish the ruling of »"7 where the burning of the 7m0
took place in the seventh hour of the day when y?211 is Rn3>I1872 90K, and that is

the meaning of 2:1°927% (that »" derives it from the words of 7"orA) -
= >RENINT 90N 1) NN v IMYYY 99N NNIINT SWIDVYT 9591 9

That just as one is permitted to make a Xn>9I87 "> into %12, here too (by

72170), there is also an XN39IRT TIOK, so we should be permitted to make it X»v.
- ARV MOIN 990Y 15 9T 7YY PN NTNRN NOD NION IINT S0 %29

And %", who (argues with »"7 and) says, ‘this is not a proper comparison’,
maintains that we cannot derive T9°R from 82 -

- ANNIVA NN 13295 XYY RIDP 92 DIVN YIDY YWY *1nph WIaNY 19
As T will explain later according to %1 in the name of X157 22 that we do not

derive %R from R21;
= ¥aVA NNPIND Y2 NIT PNYY 13929 99IN)

And the >'"9 says that the X723 did not want to establish the ruling of »"9 in the
seventh hour -
SUYA 190) 9IIYY P339 DX AW 7479 7Y ¥PWM ARNVN DY NNV IMIN PONYT

! Assuming the day begins at 6am and ends at 6pm; from 6 to 7am is the first hour, etc. and from 12 to 1pm is the
seventh hour. v is Xn»7X77 7OR (even nX173) from the seventh hour (12pm) onwards. 712777 it is 7X172 7OX from
the sixth hour (11am) onwards (it is 132777 7%°9K82 70K from the fifth hour (10am) onwards).
* This is the teaching of 7"orn. See “Thinking it over’ # 1.
3 mooin equates (according to n"7) an XN>IRTA 7ARIT 0K to XKNIRT XMW NOK since both need to be burnt (and no
benefit may be derived from them). Just as one may add &m0 to something (a *w°%w) which is already &nv, one
should also be able to add X1 to something which is RN*7IXT? 7X172 70K,
%" disagrees with the comparison mentioned in footnote # 3, and maintains that even though one may increase the
R level of a Xnwv 127, but one may not be 7MY 71N R1wn even if it is AX172 MOX. See ‘Thinking it over® # 2.
2 X1 "7 2,%. See (T1NRA) X"wan, that (just as Moo explains there that) Jm° ' X19p 72 argue whether we can
derive M0°X from RNV, similarly >"71 »"7 have the same argument.
% 11am. In the sixth hour it is Xn™X77 7N so it cannot be compared to (XN»7RT) ARAI.
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Because the expression "RRWQT a2y 79770 72190 12w indicates in the manner in
which people burn their y1, which is in the beginning of the sixth hour.

SUMMARY

We could derive (according to 1n"9) that ax»LA QY 77170 72170 79 from 7"om if
it is being burnt 'T YW1 since XN™IIRT MNOX is similar to XN7RT A8M0 (however "
"0 disagrees). n"1 is not discussing this case since v is generally burnt "1 7vw2.

THINKING IT OVER

1. Seemingly an Mo°X is like a 109 and not like a ¥»v.” It would seem then that we
can derive the rule of »"1 from ¥"1 who says a 2109 can be made &nv, but not from
the rule of 7"on1 where we can add fxm only to a X»av. However nooin states® that
we can derive the ruling of "3 from 7"on!°

2. How can we explain the dispute (between >"71 1"9) whether we can derive M0°X
from 7™ or not?'”

7 See RPMXTAT "7 K, MO, A Xnv can make something else also X»v by coming in contact with it, however an
X177 MO°R cannot make anything else MoR (with mere contact). It is similar to a 9105 which needs to be destroyed but
it cannot affect others.
¥ See footnote # 2.
? See TR KW,
1% See Hxmw 727
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